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153a (21 mwn) 2> 155a (517103 7wYs 378K)

I 2y mwn: dispute between donor (who recovered) and recipient (of entire estate) — if he was n”sw (retract) or X1

a

b

»77. onus of proof on donor
2P n"Yynn
i Story: man had 10w written that had 1t %2 of non — “he was sick in bed”, without typical ending — “and he
died as a result of this sickness”; the heirs argued that he had recovered and then died
1 Rulnig (737): since he is dead, the assumption is that he died from that sickness
(a) Challenge (»28): in case of boats (most of which sink), we are 1’nnn as if they are alive (and dead) -
(i) Therefore: v"p in case of people who are sick, most of whom recover
2 Support for 737 2py’ 1 - the burden of proof is always on the recipients
(a) Dissent: 1m " -if he is currently a n”sw, they must prove that he recovered (& vice-versa)
(b) Note: parallal dispute re: nkRmv (in case of pav, in defining 91”7 for kMY, which depends on season)

II  Discussion of dispute between nnan/n™, hinging on menaing of 7°X1 in the 0’nan’s response

a

RN 17: witnesses must testify that he was a 82
i Dispute: is parallel to that of ym "1/2py» "7 (above); n™::3"1 and Dnon:apy
ii ~ Parallel: a1 ruled that o'non require o1y
1 Challenge: »aR — is it because 70w is missing mention of his being hale? Also missing “deathbed”
(a) Answer: therefore, neither phrase is present to give indication — 111 nprna RPN PR
N701 77 (and X217 77 72 727): 70W must be confirmed (10w DY)
i Dispute: if a 70w, confirmed by the one who wrote it, still requires ©yp (2™ — no; 0NN — needs Yp)
ii  Challenge: n'nan/n™ already had this dispute:
1 If: oy testify that they signed a 70w but were forced (e.g.) — n"1 —1502% DINRI PR; DININ - 19027 DINR)
2 Resolution: in that case, 071y are strong (their word generates minri) = %019, not here (flip for reverse)
Parallel dispute: in "R
i v oY1 Ry, 9" —0wn Dvp
it~ Challenge (5775 »”9): story in 2”a - man sold his father’s property and died; family members came to challenge
sale, claiming he was a minor at the time and they asked y™ to exhume the body
1 Ruling: we cannot defile the body — besides which, n’1n'0 sometimes change post mortis
2 Argument: position of requiring By is sound — since he told the buyers to bring 1y and they couldn’t
produce them, that’s why they requested exhumation - but if we require 70wn Dyp, why exhume - just
confirm the 70w and they can take possession
(a) Counter (57): property was in possession of buyers and family members wanted to exhume
(i) Support: that's why y™ argued that we canot defile body (buyers wouldn’t care)
(if) Block: that’'s why ™ gave two reasons
iii  Challenge (»715 579): (from R19p 927 ®n»»11) — if someone was benefiting from a field and another challenged his
ownership and the current “owner” showed a 70w which indicated that the challenger had sold or given it to him
1 If: the challenger claimed it was forged — the “owner” needs but to execute Yown oyp
2 But if-9y7yn claims D709 70w or MNR 0w (10w was confirmed but meaningless)
(a) Then: if there are witnesses, that will determine status; if not — follow what it states in 10w
(b) Implication: this follows n” — who says 17p% 718 PR 12n3w 70W1 7N - and not 1121/
(c) Response: everyone agrees that m»p5 7% PR
(i) Challenge: but they disagree (re: 0»1y invalidating their own mmn>nn, above)
1. Answer: 01y can do so, but a 17-5»1 doesn’t have that power
(if) Challenge: > is quoted as saying that the family members (above) were right to challenge
1. Response: " denied every saying that (even though his student, ™, quoted him)
2. Block: but we have a reliable report that »* interpreted n>nan (here) as being about 70own oyp
(d) Answer: the positions are reversed (»"’s statement about Y20 *127 means 1327, to the exclusion of n")
(i) Meaning:in our mwn, n" takes position that n”ynn (=10wn B1’p) and we must reverse M1
(ii) And: 9"/™ are reversed as well (9" — DY 7PR7)
1. But:noneed to switch the challenge — " still challenged 5™ from story in a”a:
2. 77 my position — need 70wn DYy — we understand why the mmp?5 got the property
3. But:if needing r1ya X1, how could they get it
a. Response: agrees that family’s 9»7p is invalid — since 51732 nWPI 2”RR 70V 5V PRMN DTYA PR
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